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AR 20
% 3.00 431, 864. 00 12,955
& & fEZRESN : 1.00C 444,819.00 444, 819
&5 :1-32
2 BSRBERY IEED,
% L B - BKTE BfL B E B il IS w &
RBE S4 b 2L
= 0.30 3,294.00 988 2. 00H / 8H
REBF
A 0.30 32,200. 00 9, 660
AR 2R 0%
% 1.00 10, 648. 00 106
& F %80 : 1.008 10, 754. 00 10, 754
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&5 :1-33
&% mIRG) 10824 1)
2 # 1BIE - AR B B B ff % W o= w =
B8 AR
A 0.50 51, 000. 00 25,500
R =
A 1.00 44,000. 00 44,000
HEBHT
A 4.00 32, 200. 00 128, 800
REE S4 kN2 2L
B 1.00 3,294. 00 3,294/2.00H / 8H
HHE 2HE0Y%
% 35.00 201, 594. 00 70, 557
= H YEZERESD ;- 10. 003t 5 27,215.00 272,151
£S5 :1-34
B RS 1084 Y
2 # 1BIE - AR B B B ff % W o= w =
R =
A 1.00 44,000. 00 44,000
HERER
A 1.00 34, 300. 00 34, 300
HA=BF
A 1.00 32, 200. 00 32, 200
HHE 2HE0Y%
% 1.00 110, 500. 00 1,105
= H YEZERESN - 10.008 11, 160. 00 111, 605
&5 :1-35
L B REREN 1ty
2 # 1BIE - AR SE B B B ff % W o= w =
ey BARE
B 17.00 691. 00 11, 747
= it YEZERED 1. 00 11, 747.00 11, 747
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&5 :1-36
L% WERE 2. 4kmyY
2 # 1BIE - AR B B B ff % W o= w =
REE S4 kN2 2L
B 1.00 3,294. 00 3,294/2.00H / 8H
R =
A 1.00 44,000. 00 44,000
B RER
A 1.00 34, 300. 00 34, 300
HA=BF
A 2.00 32, 200. 00 64, 400
HHE 2HE0Y%
% 1.00 145, 994. 00 1,459
= H E¥8EH :2.40km 61,438.00 147, 453
&5 :1-37
L% ERORE 100H 7 E X4 Y
2 # 1BIE - AR B B B ff % W o= w =
B8 AR
A 1.00 51, 000. 00 51,000
R =
A 3.00 44,000. 00 132, 000
HERER
A 6.00 34, 300. 00 205, 800
HEBHT
A 7.00 32, 200. 00 225, 400
HHE 2HE0Y%
% 1.00 614, 200. 00 6, 142
= H YEZERES ;- 100. 004 MR 6, 203. 00 620, 342
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&5 :1-38
& BHUAERE Tkm#Y
2 b g - BIRTE By = il 25 W = " =
BIEFEHEM
A 0.50 51, 000. 00 25,500
RIS HRER
A 0.50 44,000. 00 22,000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEBF
A 3.00 32, 200. 00 96, 600
REE S4 kY 2L
B 4.00 3,294.00 13,176/2.00H / 8H
HeRaH BER (R
B 4.00 624. 00 2,496
HARER RTKGNSS
B 4.00 53, 400. 00 213, 600
MR 2E0%
% 20.00 407, 672. 00 81,534
& B 1E%HBEH :1.00km 489, 206. 00 489, 206
&5 :1-39
&% BHUMBEREKROERE HEED)
2 b g - BIRTE By = il %8 W E " =
BIEFEHEM
A 0.50 51, 000. 00 25,500
RIS HRER
A 1.00 44,000. 00 44,000
Bl S H A
A 1.00 34, 300. 00 34, 300
BEBF
A 3.00 32, 200. 00 96, 600
MR 2E0%
% 3.00 200, 400. 00 6,012
& B 1YEZHER - 1.00[E 206, 412. 00 206, 412
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&5 1-40
&% ;7R () 10824 1)
2 s B - BIRTE Bify H B B ff # W = w =
R =
A 1.00 44,000. 00 44,000
HIERER
A 1.00 34, 300. 00 34, 300
HEBHT
A 2.00 32, 200. 00 64, 400
REE S4 kN2 2L
B 1.00 3,294. 00 3,294/2.00H / 8H
HAH 2HE0Y%
% 5.00 145, 994. 00 7,299
= H YEZERESD ;- 10. 003t 5 15, 329. 00 153, 293
&5 1-4
LF . BELER EE)
2 s B - BIRTE Bify H B B ff # W = w =
HERER
A 0.50 34, 300. 00 17,150
REE S4 kN2 2L
B 0.50 6, 443. 00 3,2216.00H / 8H
= H YEZERED 1. 00 20, 371.00 20, 371
BS :1-42
2 s B - BIRTE Bif u B B ff # W= w =
HIE (5 50Y) HIREAR AR
®iK 5.00 8, 700. 00 43, 500
= it YEZERED 1. 00 43, 500. 00 43, 500
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£S5 1-43
2% : BK THh g Y
2 # 1BIE - AR B g B & @ W o= w =
REE S4 kN2 2L
B 0.50 3,294. 00 1,647/2.00H / 8H
SAEM FRP D 70PSZ! 3.0t
B 0.50 75,138. 00 37,569 8H
R
A 0.50 44,000. 00 22,000
B RER
A 0.50 34, 300. 00 17,150
MEHTF
A 1.00 32, 200. 00 32, 200
HHE 2HE0Y%
% 2.00 110, 566. 00 2,211
= H YEZERED  7.003h = 16,111.00 112,777
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SIS FEEEEBRERE

EEXRT

5 1-44
27 KEAH 12&4Y
% # i - Tkt B & fi & 1 f

Kig

E1% 14.00 382.00 5,348
ERACE)

E1% 14.00 4217.00 5,978
55 (BREES)

E1% 14.00 720. 00 10, 080
B GBRE)

E1% 1.00 425.00 2,975
KEALVRE (oH)

E1% 14.00 517.00 7,238
AHBEE (00)

E1% 14.00 1, 750. 00 24,500
L MBRERE (COD)

BRIk 14.00 2,470.00 34, 580
SFEWH (9)

BRIk 14.00 1,710.00 23,940
KIS WE R (BRREHD)

BRIk 14.00 3,420.00 47, 880
22% (N (MESBE)

BRIk 14.00 3,190.00 44, 660
29y (1-P)

BRIk 14.00 2,740.00 38, 360
nnE4 8

BRIk 1.00 3,700. 00 25,900
a &t EERED (- 1.00K 271, 439. 00 271,439
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&S :1-45
& ;1R (2) THh g Y
2 s B - BIRTE B B B ff # W = w =
REE S4 kN2 2L
B 0.50 3,294. 00 1,647/2.00H / 8H
SAEM FRP D 70PSZ! 3.0t
B 0.50 75,138. 00 37,569 8H
R
A 0.50 44,000. 00 22,000
B RER
A 0.50 34, 300. 00 17,150
HA=BF
A 1.00 32, 200. 00 32, 200
HAH 2HE0Y%
% 2.00 110, 566. 00 2,211
= H YEZERED  7.003h = 16,111.00 112,777
&S : 1-46
LF . BELER EE)
2 s B - BIRTE B B B ff # W= w =
HERER
A 0.50 34, 300. 00 17,150
REE S4 kN2 2L
B 0.50 6, 443. 00 3,2216.00H / 8H
= H YEZERED 1. 00 20, 371.00 20, 371
&S 1-47
2 s B - BIRTE B B B ff # W= w =
HIREAR AR A5
®iK 7.00 8, 700. 00 60, 900
HWEHE (1-L)
®iK 7.00 2,750. 00 19, 250
L2 EERERE (COD)
®iK 7.00 3, 650. 00 25, 550
B (1-5)
®iK 7.00 3, 800. 00 26, 600
= it YEZERED 1. 00K 132, 300. 00 132, 300
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&S 1-48
L% . EHTHE =E)
2 # 1BIE - AR B B i % i w =
B8 AR
A 1.00 51, 000. 00 51, 000
R =
A 0.50 44,000. 00 22,000
B RER
A 0.50 34, 300. 00 17,150
= it YEZERES ;- 1.00[E 90, 150. 00 90, 150
£S5 1-49
2% hRRE =E)
2 # 1BIE - AR B B i % i w =
B8 AR
A 1.00 51, 000. 00 51,000
R =
A 0.50 44,000. 00 22,000
HERER
A 0.50 34, 300. 00 17,150
= it YEZERES ¢ 1.00[E 90, 150. 00 90, 150
&5 :1-50
B BARWE =ED)
2 # 1BIE - AR Bif B i % i w =
B8 AR
A 0.50 51, 000. 00 25, 500
R =
A 0.50 44,000. 00 22,000
HIERER
A 0.50 34, 300. 00 17,150
= it YEZERES ¢ 1.00[E 64, 650. 00 64, 650
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&5 : 1-51
£F5 : RE GRETEB LY 1XEY
2 b g - BIRTE By o = B 4 ) W = " =
REE
= 1.00 60, 090. 00 60, 090
& B 1YE%HeRH 1,00 60, 090. 00 60, 090
= 2-1
& BET IDOINERRE 1XEY
2 b g - BIRTE By H = B 4 ) W E " =
AR (A)
A 6.00 55, 200. 00 331, 200
AR (C)
A 4.00 35, 600. 00 142, 400
& Hi 1E%HeH - 1.00K 473, 600. 00 473, 600
&5 :2-2
B AEEROEEBEN 1XEY
2 b g - BIRTE By H = B 4 ) W E " =
F{EHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 6.00 55, 200. 00 331, 200
e (B)
A 6.00 45, 300. 00 271,800
AR (C)
A 7.00 35, 600. 00 249, 200
g
A 10. 00 31, 600. 00 316, 000
& B 1E%Heh - 1.00K 1, 230, 400. 00 1, 230, 400
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&5 :2-3
2% ) BESEOHEORE EE)
2 s 1BIE - AR B B B ff # 1 w =
FAL AR (BED)
A 1.00 62, 200. 00 62, 200
®EF (A)
A 1.00 55, 200. 00 55, 200
HEm (B)
A 2.50 45, 300. 00 113, 250
H®EF (C)
A 2.50 35, 600. 00 89, 000
®iia
A 1.50 31, 600. 00 47, 400
= H YEZERED 1. 00K 367, 050. 00 367, 050
£S5 :2-4
B BEEER EE)
2 s 1BIE - AR B B B ff # 1 w =
F LR (355
A 1.50 62, 200. 00 93, 300
®EF (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
H®EF (C)
A 2.50 35, 600. 00 89, 000
= H YEZERED 1. 00 433, 550. 00 433, 550
5 :2-5
2% EHEALE EE)
2 s 1BIE - AR SE B B B ff # 1 w =
EBRARE
= 1.00 25,046. 00 25, 046
= H YEZERED 1. 00 25,046. 00 25, 046
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&S :2-6
& EFRER
£ 5 L - BIRTiE BAf % = B & % = & &
EERRMRE
= 1.00 30, 000. 00 30, 000
& Hi 1YE%HeRH 1,00 30, 000. 00 30, 000
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